FERETRY X

(BEZ=2—TET_FHA=+—HL+E1E8HRK)

= 7
BZE H=E
—ET_F —ETETF
HA=+—H —A=+—8H
lioza I+ @B H™E IEFE
FT#ET FABE T
REEKBZERESRAFE 24(a) 70,224 603,661
# &G, R KRX
2R E 64,088 34,910
EENRIIES (97,725) (66,506)
A% 2= # §5 =2 3% B HA 65 B 0] 2 5 (E 1,695 —
BBk B 23,622 6,825
B R IR S (15,067) (39,111)
ERNTHEBARDERKRER ZKRE (1,211) (14,489)
REBH/R BB R ZREREFERE (24,598) (78,371)
BlE
[ (28,196) (27,445)
R R K 2,670 734
(25,526) (26,711)
BEEB
BAEEEE (72,842) (88,398)
& & E & E TS RIE 2,223 173
BAREZEE (110,457) (13,270)
& E| I B E S RIE 4,013 —
RAERBARMNMABMREEZATKER ZEHS 9,139 —
NS AN 24(b) (13,380) (311,585)
bt AR AN - (5,947) (71,019)
B B S A\ R 1D HE 80,000 —
HE—BPTEHEENERF — 2,108
e — B AR 2 — 2,262
WMARE T BT TFTREMNBARIZ# X — 4,545
LN /N (26,056) —
18 B Bt e N P A (11,037) (7,167)
H B B A Bl e 81,300 33,186
HEFHEE 5,558 14,761
WINIEEERZLHFERE (TEEITBREKRER) (293,985) (56,566)
NG HR AR A H R (110,839) (62,157)
BE B (FRES) AT #2 A% Z= 4% 110,760 (110,760)
REXEBZ2HERHEFE (351,550) (663,887)

B g B 5% = ()



RFERERD X

e |
(BE—_ZZTZ—_FHA=+—BI1t++t@E8HM)

& 5

B=E BHE

—EE-F —EEETF

EFA=+—-—8 t=—A=+—8H

Kt & I+t 1@E A HEE IEF =

FET FAB T

MEAMZESREFEAE (331,450) (165,308)
mE 24(c)

AT AR ) P 1S RRIA S ER — 215,912

A Ep) (81,055) —

B2 & 8 A E (626) (589)

FLEE R A AR B 5 E £ 2 X i (21) —

BERBIRITE R FE (276,406) (32,848)

(BE) " RHERITERMEBHRIAEFE 345,023 (6,525)

(BE) EERMENREFEHE (2,750) 2,992

REBEETHZ2RS GRE) RAFE (15,835) 178,942

ReRBRLSZEEERA GRL) #m (347,285) 13,634

RERBELEEER BB F3 143,602 131,549

E N TR 2 R (265) (1,581)

ReRRSEEEE R F4& 24(d) (203,948) 143,602

B M BR] B% S=

71



